
            
 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 𝑈 = 𝑥𝛼𝑦𝛽

 𝑈 = 𝛼𝑥 + 𝛽𝑦

 𝑈 = min(𝛼𝑥, 𝛽𝑦)

 𝑈 =
𝑥𝛿

𝛿
+

𝑦𝛿

𝛿

 𝑈 = 𝑥 + ln 𝑦

 𝑈 = 𝛼 ln 𝑥 + 𝛽 ln 𝑦

(Questaes 1-10) 



 

 

 

 𝑈 = 𝑥𝛼𝑦𝛽

 𝑈 = 𝛼𝑥 + 𝛽𝑦

 𝑈 = min(𝛼𝑥, 𝛽𝑦)

 𝑈 =
𝑥𝛿

𝛿
+

𝑦𝛿

𝛿

 𝑈 = 𝑥 + ln 𝑦

 𝑈 = 𝛼 ln 𝑥 + 𝛽 ln 𝑦

 

𝑈(𝑥, 𝑦) = (𝑥 − 𝑥𝑠)𝛼(𝑦 − 𝑦𝑠)𝛽

𝑥𝑠 𝑦𝑠

 

𝑈 = 4𝑥2 + 9𝑦2 + 12𝑥𝑦

(Questaes 1-10) 



 

 

 

 

 

 𝑇𝑀𝑆 =
𝛼𝑦

𝛽𝑥

 𝑇𝑀𝑆 = 0 ∄ 𝑇𝑀𝑆

 ∄ 𝑇𝑀𝑆

 𝑇𝑀𝑆 = (
𝑦

𝑥
)

1−𝛿

 𝑇𝑀𝑆 = 𝑦

 𝑇𝑀𝑆 =
𝛼𝑦

𝛽𝑥

 

 𝑘 = 𝛼 + 𝛽

 𝑘 = 1

 𝑘 = 1

 𝑘 = 𝛿

 ∄ 𝑘

 ∄ 𝑘

 𝑇𝑀𝑆 =
𝛼(𝑦−𝑦𝑠)

𝛽(𝑥−𝑥𝑠)

 𝑇𝑀𝑆 =
2

3


